
f(x) f ′(x) f(x) f ′(x)

C 0 ctg x − 1
sin2 x

xα αxα−1 arcsinx 1√
1−x2

ex ex arccosx − 1√
1−x2

ax ax ln a arctg x 1
1+x2

lnx 1
x arcctg x − 1

1+x2

loga x
1

x ln a sh x ch x

sinx cosx ch x sh x

cosx − sinx th x 1
ch2 x

tg x 1
cos2 x cth x − 1

sh2 x

f(x)
∫
f(x)dx f(x)

∫
f(x)dx

1 x+ C cosx sinx+ C

xα xα+1

α+1 + C, α 6= −1 1
sin2 x

−ctg x+ C

ex ex + C 1
cos2 x tg x+ C

ax ax

ln a + C 1
1+x2 arctg x+ C

1
x ln |x|+ C 1√

1−x2
arcsinx+ C

sinx − cosx+ C 1√
x2±1 ln |x+

√
x2 ± 1|+ C


